Honors CCM2 1 Quarter Exatm Review Packet 1

1. At a certain time of the day, the shadow of a 5 boy is 8" long. The shadow of a tree at this
same time is 28’ long. How tfall is the tree?
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2. Find xandy if [@%g ~ L{F’pi 3 Given that H is between J and K, JK = 71,
m«R = 10x + 140, m£C =48x-50, * [ = JH=7x-13, and HK = 4x + 7, find the
msP =8y -9, msA=x+y, o value of x, the length of TH, and the
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5. The vertices of a triangle are D(-2, 3), E(-2, -4) \
and F(5, -4). Graph and label the image with a N\

reflection over the line y = -x. Name the image
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vertices below.
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Write the algebraic rule for a reflection over y = —x.
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6. Sketch the graph of the function on a separate piece of paper. y = x% + 15x + 54

a. Iind the x-intercepts. [Ei Q\) ( A Oﬂ t\l» 6“‘, q>@<%@>
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7. Find the equahon of a ‘func‘ﬂon wﬁhm’rercep?s at (-5, 0) and (9, 0) and @ vertex af (1, 10}
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13, In 2005, a baseball card bought for $50 increased at a rate of 3.4% per year.

a. Write an exponential function that medels the value of the baseball card.-
4y =1 4,034 - |,03
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b. Write a recursive (NOW-NEXT) function to model the data. i
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¢. Find the value of the basebali card in 2013,
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d. In what year will the baseball card be worth $120?‘@< o (jt"“gu} m x=26. 18
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14. A car's original value when purchased was $18,000. Five yea?s IaTer)sT was Worth $7 500/ W03

RWM@ an exponential equaflon ‘ro model the information. Then, find the value of the car ten
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16. Graph and labet-thepoints J(-3, 4), K(-2, 2), 5 - T
L{1, 1) and M(4, 2) and then rotate the figure ! " -~
270°. Graph and label the image points, and | ¥ o~
éwri?e their ceordinates below. Then, write \ " ? '2-
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17. Graph AABC with A(4, -3), B(5, 1), and C(2, 2), | e+t ?)f*';“
then graph the image of AABC after the BNl
translation (x,y) — (x-3,y+2), Thena \}
reflection over the x-axis. 1@;@% 3 uﬂ) /i
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21. Describé how the parabolay = o(x - 5)2 + 6 is shifted fromy = x° Wear ge 3
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Factor and find The soluhons B T  (a v
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25mighe fol!owmg function models how much money, v, a certain company makes after a certain
amount of time, t. At what time did they make the least amount of money?
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26. Todine-131is used to find leaks in water pipes. It has a half life of 8.14 days

a. Write an exponential fgng_ngé] or a 200 mg sample
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b. Find the amount of iodine-131 remaining after 72 days
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27. On a separate sheet of graph paper, graph and compare f(x) = 3* and g(x) = 3" 2

-7,
Label eac%bgr%ph Determine the domain, range, and asymptote of g(x). **7{ @Ex“) 5 ‘
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28. The value, V, of a car canBe a5y THE Function V(t)=15 OOO(G 78)* where 1 1?@%—*—-‘-
Y
number of years since the car was purene ) the nearest tenth of a percent, what is
the monthly rate of deprecmﬁon ‘A
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